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3Inny Swpblwh Gunfwd wiwh .
Sm‘ bywinwnbuwlGsnp woh | COnuibln o wu:‘é“ pyntd
NN | (u.5+u.6) “ﬁiwu $nGnwhG wu
1 2 3 4 8 6
1000 CLUUELE GLUUNFSLGE 6006097,836 | 4947432,266 | 1058665,570
(nnn 1100 + wann 1200+winn 1300)
w)n pyntd
1100 |1. 3UPYEN 64 SNEPREN 7100 | 1296874,4 12968744 X
(nnn 1110 + winn 1120 + inn, 1130 + winn 1150 + winn 1160)
wyn puncd’
1110 {1.1 Qnupwjhl hwpybp whwpd gniphg 7131 459177 459 177,0 X
w)n pyntd’
Qniypwhwpl hwdwGplbph Jupswywl nwpwéeplbipnud
11| GinGunn stiGptinh U zhGnip)ntGatiph hwdwp, nphg’ LA e A
dhahywlwl whdwlghg 22 857,0 22 857,0
hpwywpwiwlywlw wiéwbghg 14 456,0 14 456,0
1112 3nnh hwply hwiwbpbtph L[%ungluuLuD nwpwdplbpnud 403320| 403320 X
qulynn hnnh hwdwp, nphg
Gynin. Gawlwlnipjwl hnnkip 34 978,0 34 978,0
ns qjnin. Gpwlwynipjwl hnnbip 5354,0 5354,0
Wuzwnd gnuph hwny, nphg® 381 532,0 381 532,0
Ulzwnd gnugh hwply /hpwywpwlwywl wldwlghg/ 55 268,000 55 268,000
Uupwnd gnyph hwny /$hghyulwl wlawlughg/ 326 264,000 | 326 264,000
1120 | 1.2 QnuypwyhG hwplybp wy qnuphg 7136 726851,4 726851,4 X
wyn pynud’
1121 | GQnuypwhwpl thnfuwnpwdhgnglbph hwdwp 726 851,4 726 8514 X
1130 1.3 Uwpwbplhph ogunwgnpéiwh Ywd gnpontbbnupjwh 7145 90846,00 90846,00 X
hpwlwlwgiwh paypunynepjwb YSwnlbbip
wjn pyntd-
1131 | Stnwlwl winipgtip 71452 90846,00) 90846,00 X
(nnn 1132 + winn 1135 + inn 1136 + winn 1137 + winn 1138
+wnnn 1139 + tinn 1140 + winn 1141 + winn 1142 + inn
1143 + wninn 1144+wnn 1145+wnnn
1146+nnn1147+wnnn1148+wnn1149+unn1150)
wjn pyntd’
w) IwdwyGph nwpwépned Gnp p6Gp6ph, 2hGnepynllbtph
1132 (GEpwnjw] ng hhiGwywh) 2hGwpwpnipyntl (nGnwnpdwa) 18000,0 18000,0 X
pnjnynipjwl hwdwp (nnn 1133 + wninn 1334),
nppg’
1133 ww) Ipdbwlwh 2hGnipynibleph hwdwp 18 000,0 18 000,0 X
1134 wp) Ng hhaGwywb 2hGnepniGGEph hwdwp 0,0 X
q) Iwiw)iph Jwpswlwh nwpwépnid 26Gptnh,
1136 2hGnip)neGOtph, pwnwpwhGwlwl w) opjElwnbtph 100,0 100,0 X
pwlndwh pnypndnipjwl hwdwp




Swpblwi G2nywd wiwh

OoJwé dwpdhGobph Ynndhg gnpéwnpelbph Owhuwgokn L

nhdntdbbp Yuadbne, hwunwenpbph wwnskibp hwibine

L npwlghg pwunywdéplbp nwint hwdwp

Inny 5
S:Irrhh bywinwnbuwyGting wep | Conwsbly | wutu”é” B
NN | (u5+u.6) ne DnGnwhG Gwu
dwu
1 2 3 4 5 6
n) wdwGph nwpwépnid ngbithg udhgpltiph b (Ywd)
Shuwhuninh wpunwnpwbph Juwsdweph, huy hwipwh
1137 uGlnh opjEywnGEpnLd’ ngbhg fudhspltiph L (Ywd) 27 364,1 27 3641 X
dhuwhunuinh wpunwnpwlph hpwgdwb payypnynipjwb
hwdwnp, Gny0 pynLd’
-nqbi hg fudhsplbph hpwgdwl hwdwp hhdl. 2hG GEpunid 154341 154341
-0fuwhuninh hpwgdwl hwdwp hhdGwywh 2h6 GEpuncd 11 930,0 11 930,0
1138 ) 3wdwlph mwpwépnid pwgop)w Jwiwnp 35898 3589.8 X
Juwqiwhbpwbne pnynynipjwl hwdwp
O S WOWJUph o pniyg nGnnLy qunGinpn,
nbfubhywlwb hennuybbph, hennuyuwgywé quigkiph
1139 Gwhpwéwfu wrlinph Yewnbpnd hennly uetihph, 10 800,0 10 800,0 X
nbubhywlwb henndyGeph, hbnniywgdwé quqkiph
indunnb antuimilaroun bunSinn
b) Iwdwylph nwpwépntd webnph, hwbpwjhG ulGnh,
quwndwph, 2whnidny fuwnbph b yhdwhwhuwntph
1140 Yuwgiwybpwdwh opjtywnGtpp, pwnGhplbpp 3350,0 3350,0 X
(uwniOwGbpp), uwnwunbbpp dwdp 24.00-hg htinn
wyfuwwbnt pnypnydnipjwl hwdwp
1142 p) Iwlw)lph nwpwépnd wpunwpehl gndwqn 18 062,1 18 062.1 X
wbinwnpbinte pnypnynipjwl hwdwnp
n dp) Pwilwpdbp dEwnwnlbphg wwwnpwuwnywd hpkiph
e Gulpwéwh wenwjwdweph pnyjpnynipjwl hwdwp L 100 A
1146 da)3wdwiuph wudwuncdp $hpdwiht wujwuncdubpnud 600.0 600,0
oquwgnpdbine pnuynynipjwl hwdwn
dn)tuwunteubpnud , Unwwlubpnud nkhubhlywywu
7
LSl htnnuuenh Jwéwnph poupnynigjwl hwdwp F186:0 L
« ¢)3wdwylph nwpwspnd hwupwihl ullnh
3 Lwadwytpwdwu W hpwgdwl pnypnydnipjwlb hwdwn ks el
1149 Angbhwlquunh Shuwlwunwpnie)wl sSwnwjnupnltulbph 2 000,0 2000.0
hpwywuwgnud
1150 Ywpwnyth, nhuynuntyh, pwnuhph, uwntuwih W 60.0 60.0
; = snghpwnUhgh hwdwp® opwgnigwhu tnwnpyw hwdwp : 3
1150 1.4 Uwnwiptbph dwwnwlwpwpnuihg b éwewynipynGGbph 7146 20000,0 20000,0 X
dwuinigniihg wy| ywpunwnhp ySwpbbp
wyn pyncd’
1151 | Iwdwbph pyniet Ydwpynn whnwywh nnpplip 20000,0 20000,0 X
(innn 1152 + inn 1153 )
w)r pynid’
w) Pwnwpwghwlywb Yugnipjwl whwnbp gpwbgbine,
nnwig Gwuhl pwnwpwghlpht Ypyowhh Jywywlywitn,
prunuwpwghwlwi Yuwgnipjwl whnbpnid uunwpdwé
e onwnnudbbpnud thnthnfunepynlGGbp, | pwgnudbtp, 4390 #0900 =
nunnedbbp Yuwwnbpne b JepwlwigGiwb
Luwwlgnipjwdp JywjwlwbObn tiwnt hwdwn
p) Lnunwpwlwh gpwubGyuyGeph Ynndhg Gnunwpuywh
¢wnwnipntGlbp uwwnwnptnt, Gnunwpwlwl Yupgny
1153 Ui Epwgywé thwunwpnpbiph YpyGophGwlybbp tnwint, 16 000,0 16 000,0 X




Inny Swpbywh Gnwd wiwh
S;’H‘ blwdnwnbuwlGtng weh | COnWOGOY wu:‘é“ pUsig
NN (u.5+u.6) ndiuju $nlnwjhb dwu
1 2 3 4 5 6
1200 |2. MUCSNLUYUL ruvucLnrlLeN 7300 | 4167205,67 | 3108540,10 | 1058665,57
(nnn 1210 + winn 1220 + wninn 1230 + wninn 1240 + wninn 1250 +
wnnn 1260)
wjn pyncd’
1250 2.5 Lopwghly Gpphl wwannGwlywl npwidwzlnphbbp 7331| 3108540,1 31085401 X
unwgywéd Jurwywpiwl wy dwywpnuwybbphg
(nnn 1251 + winn 1254 + winn 1257 + wnn 1258)
nphg"
1251 w) Menwlwa pjnipbhg $hlwbuwlwl hwiwhwppbigdwl 3105489.7| 31054897 X
ubqpnibpny npwdwnnynn nnunwghwbp
q) Tanwlwa pyniebhg npwdwnpynn Gwwunwlwih
1257 | i wgnudGtip (unipyblghwGbip) Wity - e 5
2.6 Lwwhwwy Gipphlt wwnnlwywh npwiwzbnphlbp’
1260 unwgywo Ywewwpdws wj) SwywpnwlGbphg 7332 | 1058665,57 X 1058665,57
(nnn 1261 + wninn 1262)
wyn pynid’
w) Nenwlwh pyniebhg Ywwhwwy wluubiph
1261 | PphLwbuwynpiwb Gwwnwlywihb hwnlwgnldltp 1058665,570 X 1058665,570
(uniptOghwlbn)
1300 |3. U3L suuunksuer 7400 542017,8 542017,8 0,0
(nnn 1310 + winn, 1320 + winn 1330 + winn 1340 + wninn 1350 +
wninn 1360 + vinn 1370 + tnnn 1380)
wjn p [IlLai‘
1330 3.3 9nuph yuwpdwlwynipjnibhg GYwdniinGbp 7415| 68129,700 68129,700 X
(nnn 1331 + wninn 1332 + wninn 1333 + 1334)
wyn pyocd’
1331 %uuu;djjugh ubithwlwGnipyntl hwdwnynn hnntiph 27 031,500| 27 031,500 X
Yupdwlhwinipjwl yupdwyGwnbtp
-gnunwwniunbuwlwl Gowbwlynipjwl 16 838,500| 16 838,500
-ng gJninwinGunbuwlwi Gawlwynipjwl 10 193,000{ 10 193,000
Jwiwtph qupswlywb nwpwépnid gnbynn whnnipjwl b
hwwbpp ubthwlwbnipjwlp wywwnlwbnn hnnwdwukiph
o Yu oniguwwindwb hpwynilph nhiwg qubGaynn 26000,00]. - 28 00000 A
JuwpdwGwplp
1334 Uy gnuyph qupdwywinip)nilhg dnunpbip 13 098,20 13 098,20 X
3.4 Suiwbph pynepbih BYwinnGen wwpwGpGbnh
i dwuwn i wpwpnuihg b dwewinipintGGEph dwunnignudhg w2 et o g &
(i 1341 + wninn 1342)
wyn pnud’
Mtnnepjwh Yynnihg nbnulw hGplwlywrwdwnpdiwh
GuwpopGhtph0 wwndhpwlyws |hwanpnipnilltph
18421 o wCwgdwG dwhuubnh hGwGuwdnnOwG hwiwp i R A
whuiwlwl pynupbpg unwgynn dhpnglbip
1350 |3.5 Y ppwlwl qubdnuillip 7422 | 465890,07 465890,07 X
(nnn 1251 + wnn 1352 + wninn 1353+13520)
wyn pied
1351 | StnwlwG Uswnplbp 378583,60 378583,60 X
W Lpnedwlywl Swnwjniupjnilltiphg yéwn 75,00 75,00
Bunr bl Jéwpubn 204758,60| 204758,60
Unpw! wuunupjwl ywn 168050,00( 168050,00




3nny

Swpbywh 6ndwd wiwh

S;?r GYwinwnbuwlltpp wéh LOnwikbp T wu:ﬂﬂpdnm
NN | (u5+u.6) o PnlinwhG Gwu
1 2 3 4 5 6
Ghu 2whwgnpddwl pnyunynipintl WhGwpwpnipjwl 5000,00 5000,00
wwpunp thwunwgpkne hwdwp
Upgntjpltip L wénipnbbp Yuqdwybpytine hbn juwdwé wafu 700,00 700,00
13520 | tnbnuwiljwl yéwnubp 31806,466| 31806,466
Jwiwyiph qupswlwh nwpwépntd hipGwlwd Yunnigdwéd
1352 | sh0phnh, 2hGnipyncGGEph ophGwlwlwgdwh hwdwp 45000,00| 45000,00 X
YGwnlbp
Opblpny uwhiwbywé nbwpbpnud hwdw)lpw)hG
hhatwplGtph Yynndhg wrwlg wenwlwb ninipph qubddwl
1353 | dwunnigynn dwowjnigntGobph Jud juwnwnynn 2500,00 2500,00 X
qnponnnepntabph nhdwg unwgynn (qwbdynn)
_JGuwpusp/Jipwhwugbwynpnud/
PUtul i wl hwwnndy uywuwnpynwhg dnwngtin 8000,00 8000,00
1360 |3.6 Ui winydbiphg, tnnniquiGipltinhg 7431 4000,00 4000,00 X
(innn 1361 + wnn 1362)
wjn pynd’
Jduwpn w6 hpwdwiuwunnudGeph hwdwp nbnuywi
hOpOw ! onwywndwl dwpdhGOtph Ynndhg
1361 wee s uwGwnynepywG ShengGeph Yhpwenudhg b 400009 o
Gl dninlbp
S nGywywn® . wdpwnanudjwu




